C-DOT DSS MAX

I. Fill in the blanks:

1) The destination of Signalling Cables is given in P/Q/R/S/T format. Here, P denotes ……………………………………
2) The MDF Cables used for connecting Subscriber lines consists of 64 pairs divided into …………… bunches of ………………… pairs each.
3) To carry out Exchange Side (Signalling + CODEC) tests of a Subscriber Line, Test Set No: ………………… is used. 
4) When one copy of BMS goes faulty in a Base Module, the class of alarm generated is …………………………………
5) The Subscriber priority assigned by the system for CCB-STD line is …………
6) A Trunk Group may be identified by a number between …………… & ………………
7) A trunk circuit is identified by the ………………… designating the port at which the circuit is connected to the Exchange hardware.
8) TGP-CAT may be a number between ……………… and ……………………
9) Not more than ……40………… TENs can be added to a TGP by a single command.
10) In a TU, time slot ……………………… is used as HDLC message link with BPU.
11) The Announcement Card (ANNC) provides ………15…… different stored announcements.
12) TTC is located in Slot No: ……24……… in TU ……4………… in the SBM switch.
13) The 128 terminals in a TU are scanned by the SPC during a period of …2…… ms.
14) SCIC card in TSU is similar to TIC card hardware and software-wise. 
15) IOP is used as the …………………………………… in C-DOT DSS.
16) IOM consists of two similar switch units, namely, ……………… and …………………
17) Operating System used in IOP is ……………………
18) The Link speed of IOP-BP/AP link is …………………… and that of IOP-IOP link is ………………………
19) The BPU hardware when used in AM is called …………………………… and when used in CM is called ………………………………
20) In SBM configuration, BPU is connected to ………………… , …………………… and ………………………………… through HDLC links.
21) ……………………………… is the message transfer point in Base Module.
22) BP communicates with other processors like TIC, SCIC, TSC, TGA, ANNC, MFC through …………………………………
23) BMS is housed in ………………………………… frame.
24) In MBM configuration, BPU is connected only to ………………………………………
25) In MBM configuration, IOP and ADP are connected to ………………………………
26) In C-DOT DSS MAX, ……………………… is the basic growth unit.

27) The LCC interfaces up to ……………… subscribers.
28) A Terminal Group (TG) consists of ……………… Terminal Cards.

29) In a TU, there can be a maximum of ……………… Terminal Groups (TG).

30) TIC is an ………-bit microprocessor Controller Card.
31) The two types of analog trunk cards are ……………………… & ……………………………

32) TSU receives …………………… channels from each TU.

33) In APU, ………………… Central Message Switches (CMS) are housed.

34) The I/P supply to PSU-II is …………………… and it generates secondary voltages like ……………… , …………………… , …………………… & ……………………

35) If BMS-0 goes faulty in the Base Module, a ………………… Alarm is generated. 


II. Choose the correct answer from the brackets:

1) ………BP………… is the heart of the SBM. (ANNC/ TIC/ BP)
2) There are ………………… Test Access relays in an LCC. (2/ 4/ 8)
3) A maximum of ……16………… Terminal Cards can be provided in a TU. (8/ 16/ 24)
4) The signaling information from the terminations are processed by …………… card. (TIC/ TUI/SPC)
5) A TIC controls ………………… Terminal Groups. (2/ 4/ 8)

6) A maximum of ………………… Digital Trunk Systems can be provided in a DTU. (4/ 8/ 16) 

7) A maximum of ………… MFC cards can be provided in C-DOT SBM RAX. (4/ 3/ 8)

8) All the tones required for the Exchange are generated by ………………… card. (ANNC/ MFC/ TGA)
9) …………………………… acts as a Message Transfer Point between BP and different controllers. (BP/ BMS/ MU)

10) The Master Controller in the SBM is ………………… (BPU/ TSU/ TIC)

11) The maximum concentration permissible in C-DOT MAX is …………………………… (3:1/ 4:1/ 8:1)

12) The OOD terminal is connected to the ……………… (BP/ TS/ IOP)

13) When one of the IOPs goes out of service, …………………… alarm is reported. (Non-urgent/ Urgent/ Critical)

14) When ANNC goes out of service, …………………… alarm is reported. (Non-urgent/ Urgent/ Critical)

15) When any PSU card failure happens, ………………………… alarm is reported. (Non-urgent/ Urgent/ Critical)
16) When Battery-Low condition is encountered, …………………… alarm is reported. (Non-urgent/ Urgent/ Critical)

17) To find out the status of all Switch Units (SWU) in the system, ……………………… command is used. 

18) In BPU and TSU, the PSUs used are of type …………………… (I/ II/ III)

19) From each LCC slot, ……………………… pairs of wires are to be extended to MDF. (8/ 16/ 24)

20) In the TEN 1-1-1-3-6, the card slot number is …………… (1/ 3/ 6)

21) In SBM configuration, IOP and ADP are directly connected to …………………………… (TU/ TSU/ BPU)
22) In the normal working of BPU, …………………………… is active. 

(MU-0, MU-1/ MU-0 & MU-1)

III. Say ‘TRUE’ or ‘FALSE’; if ‘FALSE’, correct the underlined portion:

1) It is possible to login to ‘root’ account from any terminal connected to the IOP. T
2) The individual cards in each IOP are duplicated. F

IV. Answer the following questions:

1) List the major functions performed by IOP.
2) Mention the different RUN LEVELS of IOP.
3) Name the software deliverables required for Software installation in IOP.
4) The three racks of a C-DOT SBM RAX are shown below. Complete the diagram showing the different TUs and concentration. Also note down the ti identities.








5) Write down the Card Slot No. of the following PCBs: 



a) ANNC: 




b) TTC: 
 
c) TGA-0:




d) TGA-1: 

e) MFC1: 




f) MFC2:

g) MFC3: 




h) MFC4: 
 
i) CPU-0:




j) CPU-1: 

6) Names of few Switch Units are given below. Indicate the PCBs that constitute them:

 
a) TI
:




b) BP
: 
 
c) BMS
: 




d) MU
: 
 
e) TSC
: 





7) An alarm message displayed in OOD terminal is shown below. 
Now answer the following questions:


i) What is the type of alarm?
 
ii) Name the Class of this alarm.
 
iii) Which is the unit affected?
 
iv) Does this message correspond to a newly reported alarm?

FUNDAMENTAL OF TRANSMISSION

Q.1.State true or false

a)
The natural logarithm of the ratio of two voltages (or currents) express the loss or gain in detail. False
b) Doubling of power means a 3 dB gain True
c) The characteristic  impedence of any line is defined as the impedence looking into an infinite length of the line. T
d) X-talk is mainly caused by two types of  induction i.e magnetic and  Electrostatic. True
e) PCM systems use FDM Technique to provide a number of circuits on the same transmission media. False
f) In PCM time period of sampling is 125 ns. False
g) In 30 chl PCM system time slot (TS-16) in each frame is allocated for carrying the signaling information. true
h) Characteristic impedence is a primary line constant. F
Q.2.
Match the following

	
	Column 1
	Column 2

	
	1) 0dBm                        f
2) R                          b
3) Phase distortion    c
4) Frequency distortion   a
5) Sampling frequency       e
6) PCM                     h
	a) Non liinear distortion

b) Primary line constant

c) Linear distortion

d) 8000 KHz

e) 8 KHz

f) 1 mW

g) 1 mv

h) TDM

i) FDM


Q.No.5
State true or false

a) According to shannon’s law  C = W log 10 (1+S/N)  F
b) ISI is a interference between adjacent symbols due to pulse spreading T
c) CRC is the most effective method for error detection True
d) 24 chl PCM is used in India             F
e) Output bit rate of 3rd order mux is 139.264 Mb/sec F
f) Frame alignment signal (FAS) bits in 2nd order mux are 1110100000 F
g) 16 QAM system carrier twice as much information as the QPSK  system. T
h) The line code must have an in built error monitoring capability. T
Q.No.6
Match the following

	
	Column A
	Column B

	
	1) HDB-3 Code                          f
2) CMI Code

3) QPSK Modulator

4) Jitter                          a
5) B=2W                          b
6) 139.264 Mb/sec                g
7) 34.368 Mb/Sec.      c
8) Higher order multiplexing.


	a) Unwanted phase modulation

b) Nyquist relationship

c) 480 chls

d) Shannon’s law

e) 120 chls

f) Bipolar

g) CMI code

h) Gray code

i) AMI code

j) Unipolar

k) Negative justification

l) Bit interleaving




Q.No.7
Fill in the blanks

a) The parabolic antenna is used almost universally in……………………system

b) Gain of parabolic antenna = 4A/…..

c) All high performance antenna have……….VSWR

d) Band higher than………….GHz  requires the use of wave guide

e) The total earth –satellite- earth path length gives the propagatkion delay of………….msec.

f) The satellite which is revolving sound the earth with same period on that  of the earth rotation called…………………satellite.

g) Frequencies above  1 GHz are generally termed  as………………………

h) V-SAT stands for……………………………..

Q.No.8
Match the following

	

	Column A
	Column B

	
	1) VSWR

2) High performance antenna

3) Radomes

4) Space diversity

5) 6 Ghz

6) 8 Mb/sec system


	a) Low VSWR

b) Prevent ice formation

c) Two antennas

d) Uplink

e) Down link

f) Antenna matching with transmission line

g) 2 Ghz band

h) 6 GHz band

i) High VSWR


Q.No.9.
Write down the advantage of satellite communication

Q.No.10
State True or False.

1) Graded index fibre has a core with uniform refractive index. F
2) Dispersion is zero at 1300 nm for G-652 fibre

3) Dispersion limits the bandwidth of optical fibre media. T
4) Refractive index of core is slightly lower than that of clading. F
5) Light gathering ability of fibre is called numerical apperature. T
6) OF cable length is generally 2 Km/drum                   T
7) Loose buffer tube cable is used for outdoor application T
8) Modal dispersion occurs only in single mode fibre. F
Q.No.11
Enumerates the types of dispersion found in OFC


1) modal

2) material

3) wavwguide
Q.No.12
Fill in the blanks

1) Sources of loss in fibre (1)…atenuation….(2)…dispersion…(3)…scattering…

2) Propagation of light into fibre is based on the principle of…TIR………..

3) Modal dispersion can be eliminated by using…single mode….fibre.

4) Mode field diameter is slightly …………………..than core dio

5) Spreading of light pulse as it travels down the fibre is called…dispersion……….

6) ……Tight………………….buffer tube cable is used for indoor application.

7) Splicing methods (1)…adhesive…..(2)…mechanical…..(3)……fusion….

Q.No.13
List out the sub-systems which comprises the FOTS  

1. mux


2. olte


3. supervisory


4. alarm


5. power supply

Q.No.14
Write down the advantages of SDH

Q.No.15
State true or false

1) SDH is capable of transporting existing PDH signal            T
2) STM-1 bit rate is 155.52 Mb/s                                           T
3) K1, K2 bytes are used for APS                                            T
4) In SDH multiplexing bit interleaving method is used.       F
5) Non zero dispersion shifted fibre is recommended by ITU-T for DWDM system. T
6) DLC system is medium size pair gain system. T
Q.No 16
Write down the network elements of DWDM

Q.No.17
Wavelength  range of C-band …………to………nm and L Band…………to……..nm 
for     DWDM system.

Q.No.18
Match the following

	
	Column A
	Column B

	
	1) COT    h
2) G.655 fibre           i
3) TUG-2    d
4) R-SOH bytes      f
5) Byte interleaving    c
6) G.811 clock    a
7) Transponder    b
8) TDMA    j

	a) PRC

b) DWDM

c) SDH multiplexing

d) TU-1, TU-2 & TU-3

e) DSF

f) 1 to 3 row of SDH frame structure.

g) 5 to 9 row of SDH frame structure.

h) DLC system

i) NZ-DSF

j) Access Technique


Q.No.19
What are the different Access Techniques ?

2. Fill in the blanks:


   i)
____CO2__________________ type of fire extinguishers are most 

suitable for the equipment room

i) In the fire fighting organization the officer in-charge of the building will function as __Fire Fighting Officer_________

ii) For the non-equipment rooms the fire extinguishers should be provided at the rate of one extinguisher per ___250____ sq.mt area of the building

iii) The plinth level of the building where the equipments are located should be at least _____2___ feet’s above the known high flood level

iv) Automatic fire alarm and smoke detection panel works with the help of an unregulated ____24____ volts supply

v) Control module receives signals from _____Zone___________ module of the automatic fire alarm panel to generate various alarm signals and to signify the location of the fir occurrence

vi) The frequency of checking the fire alarm is ____Weekly_________

vii) In Disaster Management, the last week of April may be observed as ____Plan Updating Week____ and first week of May as ___Plan Rehearsal Week__

3.
List out three security measures to be adopted in a telecom building.

(i) For all resistances above 2 watts dissipation ceramic Bobbin type resistance coils should be used
(ii) Smoking in switch room, power room, equipment room cable chamber, battery room, and MDF room should be strictly prohibited
(iii) Avoid accumulation of dirty cotton waste and especially oily rags and waste in the power room
4.
A. C. Main supply fails in a 1000 line telephone exchange for twenty hours and no engine alternator is installed in the exchange.

(1) Indicate what action you will take as in charge of the exchange.

(2) Writer a letter to the concerned authority.

(3) Issue a telegram to the concerned authority for quick restoration of power supply

5.
Water supply to telephone exchange has failed due to water main pipe damaged on the road.

(1) Indicate the action you will be required to take to tackle this situation.

(2) Write a letter to the concerned authority.

6.
Mention three precautionary measures necessary to prevent damages due to floods in telephone exchange.


(i)


(ii)


(iii)

7.
There is leakage in the roof of the equipment room.

(1) What action should be taken by the JTO  Switch room?

(2) Write a letter to the authority concerned to carry out necessary repairs.

8.
JTO Switch room reported fan motor burnt out. 
Indicate


(i)
What action will be taken by you?

(ii) What action will be taken to get it repaired in the market?

9. 
What are the actions to be taken at the time of disaster occurrence?

Chapter 1 Over View of Internet

Fill in  the Blanks

1. Internet is  called a _n/w of networks___

2. ____ISP________ offer Internet access to their clients. 

3. Voice over IP (Voice over Internet Protocol or "VoIP") technology converts voice calls from _Analog to Digital____to be sent over digital data networks.

4. __DIAS__________provides an "always on" internet access that is permanently available at customer's premises. 

5. In cable Modem, putting both upstream and downstream data on the cable television system requires ____2____ types of equipment.

Choose the Best Answer.

1. Computer addresses are made up of three parts or two parts separated by _____________

a)  . "dots,"   

b)    @  

c)    &

2. Sources of information that are on the World Wide Web or FTP server are identified by an extended address called a _________________________

a) Universal Resource Locator

b) Uniform Resource Locator (URL).

c) United Resource Locator.

3. IRC stands for  _____________________

a) Internet Repeat Chat

b) Internet Relay Chat. 

c) Internet Remote Chat

4. The ___________ offers a wire-line solution for high speed symmetrical Internet access on the existing telephone lines.

a) ISDN

b) DIAS

c) Broadband

5. The PPP connection is called as ____________or PSTN dial-up connection.

a) ISDN Connection

b) Broadband Connection 

c) TCP/IP connection

Say True or False

1. The domain name specifies either the type or the geographic location of the computer. T
2. The first part of the URL identifies the type of Resource. F
3. IM is a way for you to communicate instantly with your friends over the Internet. T
4. Difference between IM and email is that with IM you can see your friends' presence. T
5. IRC is a Single-user chat system. F
6. There is restriction to the number of people that can participate in a given discussion or the number of channels that can be formed on IRC. F
7. Usenet News as a giant, worldwide bulletin board. T
8. In VoIP, voice, data, and video all travel along the network. T
9. In PPP User must have modem, TCP software, PPP software, & software for Internet applications. T
10. In DIAS you can not  use telephone when you  surf internet at the same time. F
11. The term “Cable Modem” is quite new and refers to a modem that operates over the ordinary cable TV network cables. T
Chapter 7 E mail

1.   A free mailbox offered by some web sites is  called as ________________

a)    web-mail  or  web based mail

b)    Official  mail

c)    Personal Mail
2.  If you want to send an Email you should have 2 things ________________ and Email Program at the client side.

a) Sender name

b) Sender Password

c)   Sender's  Email address

3.  Commonly used E mail client software is ____________

a)     Out Look Express 

a) Internet Explorer

b) Note pad

4.  For out going mail the protocol used is  ________________

a)    Post Office Protocol

b)   Simple Mail Transfer Protocol
c)   Point to Point Protocol

5.   For out going mail the protocol used is  ________________

a)  Post Office Protocol
b)   Simple Mail Transfer Protocol

c)   Point to Point Protocol

6.   E mail Address has 2 parts User name  and the domain name separated by _____.

a)    &

b)    $

c)    @
7 . MIME stands for    _____________

a)    Multipurpose Internet Mail Extension
b)    Multimedia Internet Message Extension

c)    Multipurpose Internet Multimedia Extension

Say True or False

1. If you access your mail through a browser, the messages remain on the company’s mail server until you delete them. T
2. User name may  contain space or any special characters.  F
3. Mail Users Agent (MUA) is the program a user will use to type email.  T
4. A  Mail Transfer Agent (MTA) program running on both the sending and receiving machine.  T
5. [image: image2.png]


A signature is a few lines of text usually including your name or postal address.  T
6. IMAP is also can be used for sending  the mail from the client machine to the server. F
7. While sending  E mail you can send files as attachment.  T
8. You can not send mail to more than one person at a time.   F
Match the following

	
	 Column A
	Ans
	
	Column B

	1
	spam mails
	(  C     )
	A
	Carbon copy

	2
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bcc
	(D       )
	B
	a reply for the original subject

	3
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cc
	( A      )
	C
	unwanted junk mails

	4
	RE
	(B       )
	D
	Blind Carbon copy
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Chapter 8 DNS

Choose the best Answer

1.   ________________ DNS Server creates,maintain and update the DNS database file.

a)    Primary Master
b)    Secondary Master

c)    Cache Server

2.  Country based TLD contains _______ number of characters.

a)  Three

b)  Two

c)  Four

3.  TTL parameter is related to _________

a)   Cache Server

b)   Primary Server

c) Secondary Server

4. Organization based Domain Name is __________

a)    a.b.c.in

b)    x.y.z.net
c) p.q.r.au

5. Sub-domains are often referred to as ________________.

a) child domains

b) Organizational domains

c) Parent domains

Say True or False

1. The domain name space follows a hierarchical tree structure.  T
2. The three main component of DNS  are namespace, resolver and database server. T
3. In Early days mapping of IP Address and domain name was maintained a file called host.doc  F
4. Domain Name System is an Internet service that translates domain names into IP addresses.  T
5. Inverse (arpa)  TLD is to find domain name from IP address.  T
6. Domain Name ends with . (dot)  is called Partially  Qualified Domain Name.  F
7. DNS Database is stored in centrally.  F
8. Domain is a logical group of computers.  T
9. Name servers, are responsible for name resolution in a domain.  T
10. Cache Name Servers authoritative servers.  F
Chapter 9 RAS

Choose the best Answer

1.   VPN stands for _____________

a)     Virtual Private Network 

b)     Virtual Public Network

c)     Virtual Point Network

2.   When we establishes a dial up connection to ISP we are terminated at ___________

a)   Router

b) Modem bank.

c) Switch

3.   Authentication job is the verification of   ______________

a)    Username only, 

b)    Password only, 
c)    Username and password.

4.   Remote access protocols control the establishment of connections and the transmission of data over the 

a)    WAN links

b)    LAN links

c)    VPN links

5.   PAP stands for  ___________

a)    Passwword Access Protocol 

            b)   Password Authrising Protocol

c)    Password Authentication Protocol 

Say True or False

1.   Remote access clients are connected to the Remote Access Server's (RAS)  is sometimes called point-to-point remote access connectivity. T
2. A dial-in remote access connection consists of a remote access client, a remote access server, and a LAN infrastructure F
3. Dial-in equipment consists of Digital modems for the remote access client and the remote access server. T
4. Integrated Services Digital Network (ISDN) is another form of dial-up connection that provides greater transmission speeds and an all-digital connection. T
5.   The most basic form of security for any network connection is authentication.  T
6.   The most common type of WAN connection used by RAS is the Public Switched Telephone Network (PSTN).  T
7.  RADIUS Performs Authentication, Authorization and Administration  function . F
Chapter 10 Security

Say True or False

1.  Social engineering is a method of obtaining sensitive information about a office through exploitation of human nature.  T
2.  An ego attack is one of the types of social engineering attacks.  T
3.  Information Theft is one of the  security Risk.  T
4.  Denial of Service  is not a security Risk.  F
5. Web Site Certificate, states that specific web site is secure & genuine.  T
6. Smart card logon requires the user to insert the card and enter the name  in order to log on.  F
Choose the best Answer

1.  One way of Providing Security  at Server is _________________

a)  Allowing All the Users to get access

b)  Using Digital Signature and Certificates.

c)   Blocking the  Un authorized users

2.  One type of security risk is _____________

a)    Intrusion

 b)   Allowing of Service

 c)   Information retrieval.

3.  One of efforts to make a secured network is __________________

a)  Web filtering

b)   Web hosting

c)    None of the above

4.   An intruder infiltrate an office  usually is  _______________

a)   Always

b )  at random

c)  very methodical.

Chapter 11 Firewall

Choose the best Answer

1.  Packet Filter Fire wall works on ___________ level 

a)    Application Layer

b)    Network Layer

c)    Data Link Layer

2.  Any device that controls network  traffic for security reasons can be called _________

a)   Flow wall 


b)  Firewall

c)  Back cat.

3.  Packet Filtering Firewall works on _____________level

a)   Application layer

b)   Network Layer

c)   Physical Layer

4.   A router with packet filtering is called __________

a)  Screening Router

b)  Back bone Router 

c)  Core Router

Say True or False

1. Firewall is a software or hardware to protect network from hackers . T
2. Proxy Service Firewall looks at each packet entering or leaving a network accepting or rejecting it based on established rules.   F
3. We can access all the area in DMZ.      F
4. You can place valuable items of your network on DMZ. F
Chapter 13 Overview of NIB II Project

Model Questions

Mention any three services of NIB II
1. Inernet Access

2. VPN Services

3. Messaging services

Brief on the 4 projects of NIB II
1. Project1: MPLS based IP infrastructure in 71 cities

2. Project2.1 : Access Gateway Platform Narrowband

3. Project2.2 : Access Gateway Platform Broadband

4. Project3 : Services platform consisting of Messaging ,Billing etc.

Mention any 3 services of Access Gateway Platform (Narrowband)

1. Internet access service

2. Wholesale dial or port retailing service

3. Internet call wailting service

True or False

NIB II replaces NIB I completely   




True/False

MPLS VPN is specifically for corporate network


True/False
480 port DSLAM will have one GE port



True/False
Fill in the Blanks

Project I of NIB II envisages on provisioning of  __MPLS VPN___ services

___FOUR________ number of edge routers will be available in A 1 Nodes

GE stands for _____Gigabit Ethernet_____________

The DSLAM traffic will be aggregated through a Tier 2 LAN Switch Aggregator through the medium ____Dark Fibre__________.

SLA Stands for __Service Level Agreement_____________

QOS Stands for ________Quality of Service_________________
NAT Stands for __Network address Translation  _________________

NOC Stands for _____Network operation centre____________

Match

	1
	SAN
	Technology using Copper
	2

	2
	DSL
	Access Server
	4

	3
	CPE
	In MDF Room
	5

	4
	BBRAS
	Broadband connectivity at customer end
	3

	5
	DSLAM
	For Storage
	1


Chapter 14Packages used in BSNL

Model Questions

True or False

TVARIT is a Web Based package





True/False

The database used in DOTSoft is Oracle 9i 




True/False

The operating System of Mobile Billing Package is Unix 


True/False

In Inventory Management multiple roles can be given to a single user 
True/False

In MIS the data entered by SSA Level users is stored in a  central database server.   True/False

Questions

Mention any three features of DotSoft

Mention any three Salient features of MIS Package

Fill in the blanks

Trichur Package is used for the Bill Genaration of ______________ Customers.

The front end program for HRM package has been made with ______________.

For Each SSA ____________ no of Billing Centres will be available

___________  is used for data validation at client side in the MIS 

Fleet management is to maintain _______________ inventory

Chapter 16 MPLS & VPN

1) Write True or False

a) Latency can be maintained in Packet switch.

b) Assigning the label is known as Label Binding.

c) Traffic Engineering is a method to optimize utilization of network resources.

d) VPN means public data network works on private data network.

e) In Peer VPN Model, provider edge router performs layer2 function,

2) Fill in the blanks

a) _________________________ are configured manually on each LSR in the LSP.

b) __________________________________ is a representation of a group of packets which share the similar requirements for the transport.

c) MPLS SHIM Header consists of ______________________Bytes out of which __________________________bits are used for Label.

d) VPN address consists of _____________________ Bytes.

3) Choose the correct one

a) Within an MPLS Domain, a path is setup for a given packet to travel based on an FEC is called 

i. LSR

ii. LER

iii. LSP

iv. FIB

b) A new layer is formed in between network layer and data link layer in MPLS is known as 

i. Data Link Layer

ii. Network Layer

iii. MPLS Shim Layer

iv. Stack

c) The incoming streams of traffic from different interfaces can be merged together is called 

i. Label Merging

ii. Label Swapping

iii. LSR

iv. LER

d) Transit Switches in MPLS cloud is known as 

i. LER

ii. LSR

iii. LSP

iv. FIB

e) Direct IP Routing between customers edge devices by using Service Provider Backbone is known as 

i. Overlay VPN Model

ii. Peer VPN Model

iii. LSP

iv. LER

4) Match the following

	A
	LER
	A
	
	1
	Stripes out the incoming label and assigning a new label for outgoing

	B
	Overlay VPN Model
	B
	
	2
	Organized as LIFO

	C
	LSR
	C
	
	3
	Like the routing code in circuit switching

	D
	Label
	D
	
	4
	In which perform Layer 2 services

	E
	Label Stack
	E
	
	5
	Convert the conventional IP Packet to Labeled IP Packet


Chapter 17 MLLN

I) Match the following:-

	1) VMUX       C
	a)Manages all elements in MLLN

	2) DACC         D
	b)Base band modem 

	3) NMS               A
	c)Small capacity cross connect device

	4) DXC-256         E
	d)Large capacity cross connect device

	5) NTU      B
	e)256 E1 ports


II)Fill in the blanks:-

1) Expansion of MLLN is ___Managed Leased Line N/W_____________.

2) Expansion of VMUX is _____Versatile Multiplexer_______________.

3) DXCs in metros are called ____ ___________.

4) All four R-DXC stations will be connected to each other with ______ each.

5) DXCs in SSAs are called ____________.

6) Two types of interfaces in VMUX are _________ & __________.

7) NTUs are connected to VMUX by ________________.

8) MLLN is basically _____________ architecture network.

9) The bandwidth on demand  can be configured at _______________ for programmable bandwidths of NTUs

10) Expansion of SLA is  ______________________. 

III) Say True or False:-

1) NMS forms the second stage node of the MLLN structure.

2) SR-DXC to SR-DXC is connected by 8E1s initially.

3) Re-initialisation of the network element  is not possible from the NMS.

4) One circuit can pass through four VMUXs in tandem.

5) AC & DC operational type of VMUX are available.

IV)Answer the following:-

1) What are the elements of MLLN?

2) What are the different types of DXCs w.r.t geographical locations?

3) Name the 4 management functions done in NMS.

4) What are the essential parameters for centralized management at NMS from the NTU?

5) Name any 4 features that a Network Manager in Telllabs 8100 system supports.

Chapter 18 DIAS

1) Write True or False

a) DIAS supports voice only. F
b) Each IAN can support a maximum of 600 BDSL subs. F
c) LLC card is used to interface with PSTN on SS7 Signalling.

d) DIAS user information’s are stored in MYSQL database at RADIUS Server

e) Bill Blue software is running on Billing server in DIAS system

2) Fill in the blanks

a) The Physical line or interface between BDSU and IAN is established using a --------------------------------------------------------

b) ZYNO-220 Router works on ---------------------------------------- power supply

c) RADIUS server performs authentication using ------------------------------ and -----------------------------------

d) BDSU is called ----------------------------------- equipment.

3) Choose the correct one

a) DIAS supports 

i. Voice only

ii. Data access only

iii. Both voice and data access

iv. None of the above

b) One BDSL card supports

i. 12 Ports

ii. 20 Ports

iii. 2 Ports

iv. 4 Ports

c) Number of switch cards available in DIAS system is

i. One

ii. Two

iii. Four

iv. Three

d) Billing information is available in

i. RADIUS server

ii. Billing server

iii. MYSQL Database

e) Users information’s are stored in

i. Billing server

ii. MYSQL Database

iii. PPPOE

4) Match the following

	A
	Speed of BDSU subs
	A
	
	1
	Used for VT-100 terminal and Ethernet switch at SPE

	B
	Control cards and power supply cards in DIAS
	B
	
	2
	Used for V5.2 protocol connectivity

	C
	LLL card
	C
	
	3
	Optional item in DIAS system

	D
	SMUX
	D
	
	4
	Working in Hot-Standby mode

	E
	2KVA inverter
	E
	
	5
	128Kbps


Chapter 19 Broad Band Access

I) Match the following:-

	1).ADSL
	a)Wireless LAN

	2).DSL
	b)Optic Fiber Technology

	3).FSO
	c)8 Mbps Download

	4).Wi-Fi
	d)Copper Cable

	5).PON
	e)Wireless Access


II) Fill In the Blanks:-

1) The frequency range for POTS is __________ and the frequency range for Digital DATA in ADSL is _______________.

2) The expansion for MMDS is _______________________________.

3) The expansion for Wi-MAX is _____________________________________.

4) The two types of ADSL modulation are ___________________ & _____________.

5) The transmission media in PLC is ___________________.

6) The maximum download speed achieved in ADSL is ________ & in ADSL 2+ is __________.

7) The geographical region covered by several access points is called a __________.

8) In satellite, _______________ bands are used for services involving fixed terminals and _________ band is used for mobile services.

9) __________ & ___________ Generation Mobile Technologies falls into the category of Broadband access.

10) ____________________________modulation technique is employed Bluetooth Wireless Technology.

III) Say True or False:-

1) Broadband is not an always on connection.

2) Cable Modem is not a Wired Access Technology.

3) DSL technology employs Optic Fiber as the access media. 

4) DMT modulation divides the frequency range 26Khz to 1.1.Mhz into  256 discrete sub-channels each of which had a bandwidth of 4kHz.  

5) In Fiber to the building(FTTB),the terminal equipment is located outside the building.

6) Bluetooth Wireless Technology is used for long range applications.

7) Wi-Max is used in Personal Area Networks(PAN).

8) ONU(Optical Network Unit) is not a part of PON(Passive Optical Network).

9) FSO is not a wireless line-of-sight broadband technology.

10)  Satellite broadband technology is not a reliable technology.

IV)Answer the following  in few lines:-

1) Name any two wired & wireless access technologies.

2) hat are the factors determining ADSL connectivity?

3) What are the disadvantages in cable modem access?

4) What are the different configurations in FITL?

5) What are the basic components in PON and state its function?

QUESTIONNAIRE ON POWER PLANT

Conventional power plant

Q 1) State true or false

1) Float rectifier is used to convert AC from commercial Mains to DC voltage

2) In 24 cell float system, float rectifier works with two batteries in series. 

3) LC filters are used for filtering the AC ripples in the output of rectifier.

4) HRC fuse is provided in positive lead of DC output of rectifier.

5) Output of float rectifier 51.50.5 V is kept constant by voltage regulation mechanism.

6) If the DC output voltage is decreased due to increase in load then the triggering pulse to SCR is advanced.

7) Contact voltmeter is used to indicate the exchange bus bar voltage .

8) When battery charger is used as float rectifier in emergency, ballast chokes need not be bypassed.

Q 2)  Write down the classification of power plant based on (a) unit type, (b) capacity ?

Q.3. What is the facility provided in the switching cubicle ?

Q.4. What is the main parts of power plant?

Possible Answers.

Ans: Q.1. (1) True, (2) False, (3) True, (4) False, (5) True, (6) True, (7)True (8) True.

Ans. Q.2. (a) single unit type (i) Two unit type, (iii) Three unit type.


     (b) 5/12 Ampere, 25/50 Ampere, >50 Ampere.

Ans. Q.3. Connecting three negative battery, connecting three float rectifier, connecting two battery chargers, supervisory alarms for all the units, monitoring various voltages and current, auto paralleling.

Ans Q4., Float rectifier, Battery charger, Switching Cubicle.

QUESTIONNAIRE ON SMPS power plant &UPS

Q1) What does SMPS stand for?

Q 2) Write down the precautions to be taken before powering ON the SMPS ?

Q 3) Write down three different modes of working of SMPS ?

Q 4) State TRUE or FALSE 

a) SMPS power plant float mode voltage is –55.20.5 V.

b)  Capacity of UPS is expressed in Watts.

c) UPS system is designated for uninterrupted power supply.

d) Alarms in UPS system are raised , when the output voltage exceeds 250 V A.C.

ANSWERS

Q 1) Switch Mode Power Supply.

Q 2)  a)Initial battery connection & exchange connection shall be done without energizing the system

         b) Ensure the body of cabinet is properly earthed.

         c) Earthing of site must be proper.

Q 3) Auto Float ,  Auto Charge, Manual Boost.

Q 4)  a)False, b) False, c) True, d) True

QUESTIONNAIRE ON CONVENTIONAL & VRLA BATTERIES

Q 1) What are the general requirements of a good cell?

Q 2) What do you know about AH efficiency and WH efficiency? 

Q 3) In VRLA type cell , the separator is made up of ____________________

Q 4) In VRLA type cell , the positive plate is made up of ________________ alloy.

Q 5) In VRLA type cell , the negative plate is made up of ________________ alloy.

      Q 6) VRLA  battery should be charged with ----------------- charger.

      Q 7) Write down the advantages of  VRLA battery over conventional battery?

ANSWERS

          Q 1) General requirements of a good cell

1. There must be no local action, i.e., little or no wastage of the materials when the cell is not delivering current.

2. The e.m.f. of the cell must be of such magnitude so as to enable the cell to deliver a reasonable amount of energy with moderate current.

3. Frequent replacements of materials must not be necessary and such materials must not be expensive.

4. The internal resistance must be small.

       Q 2)  AH efficiency = AH discharge   x 100

                                          AH Charge

      WH  efficiency =     AH efficiency x Average voltage during discharge





     -----
-------------------------------------------






Average voltage during charge.

       Q 3)Separator -Spun glass micro porous matrix

     Q 4) Positive plate-Patented MFX alloy.

     Q 5) Negative plate-Lead Calcium alloy.

     Q 6) Constant potential

     Q 7)  a) Maintenance free, reliable, effective and user friendly source of power. 

              b) Spill proof, leak proof and explosion resistant and there is no need to add water or to clean terminals. 

              c) It has low self-discharge rate, which eliminates the need for equalizing charges.

          d) Gas evolution under float condition is negligible.

                    e) No need for specially ventilated battery room and acid resistant flooring.

QUESTIONNAIRE ON EARTHING & FIRE FIGHTING

      Q 1)  Write any two purposes of exchange earthing ?

      Q 2) What are the different types of earth electrode systems ?

      Q 3) Write down the essential  factors to cause fire ?

      Q 4) Write down the various types of fire extinguishers ?

      Q 5) List the officials constituting Fire Fighting Organization ? 

ANSWERS

Q 1)  a) To provide a direct connection with earth for lightning protective apparatus.

         b) To provide protection to persons and plant against leakage from station       power   wiring to metallic apparatus, frames etc.

Q 2) Spike earth electrode system, Lead Strip Electrode System, Earth plate electrode system.

Q 3) The combustible material or fuel, Oxygen or air, The ignition temperature or heat.

Q 4) Soda acid type, Foam type, CO2 Type.

Q 5) Fire fighting officer: - The officer-in-charge of building will usually are the fire-fighting officer.

              Floor wardens: - On each floor, a responsible officer usually the senior most  Supervisor is appointed as a floor warden.

           Asstt, warden: - the wardens under intimation to the fire fighting officers select them. They are to act as wardens in the absence of wardens for the floor.

           Fire fighters: - Normally all engineering staff and other selected officials on duty are fire fighters. On the floors, used for administrative offices where no engineering staff is available, a group of fire fighters is selected by the floor wardens concerned in consultation with the sectional in-charge.

QUESTIONNAIRE on AC & Engine Alternator

Q1  Which gas is used for pressure testing ?

Q2  Which type of vacuum pump should be used for vacuumisation  ?

Q3  Which type of refrigerant is used in the window AC & Package AC system ?

Q4  What are the types of AC units used in our Department ?

Q5  What is the designed temperature to be maintained in the switch room?

Q6 What is the suction and discharge pressure of  package AC unit of R-22 gas?

Q7 What is the function of compressor in an AC system?

Q8 How much superheat  is to kept for perfect gas charging?

Q9 If the filter  of window AC unit is choked what will be the effect on the unit ?

Q10 Is the orientation of condenser plays any role in its efficiency ?

Answers

Ans 1  Dry Nitrogen gas .

Ans 2  Two stage rotary type vacuum pump.

Ans 3   R-22 ( Monochloro Difluro Methane ).

Ans 4   Window AC, Split AC & Package AC Unit.

Ans 5   23  3 0 C.

Ans 6   Suction pressure -  84 psi & Discharge pressure – 286 psi.

Ans7 Compressor compresses refrigerant vapor into high pressure corresponding to saturation temperature higher than temperature of naturally available air. 

Ans 8   8-10 0 F superheat .

Ans 9.  If the filter is choked there will be no evaporation in evaporator coil and  chances of liquid flood back to the compressor . 

Ans 10 .Yes . The fins and tubes of the condenser should not be exposed directly to the sunrays because it reduces the efficiency of the condenser.

Questions Bank on Transmission Theory

Chapter 1: Introduction to Analogue and Digital Transmission Systems

MULTIPLE CHOICE:

1. In FDM, the frequency translation is done by __________ Modulation
(   )

 of an appropriate carrier frequency by the Audio Frequency.

A. Phase    

B. Width   

C. Amplitude

D. None 

2. Maximum frequency that can be transmitted over a well constructed
(   ) 

open wire line is  _________.

A. 250 KHz.

B. 25 KHz.  

C. 150 KHz.   

D. 150 MHz. 

3. In 12 MHz., small tube coaxial system, the maximum number of 

(   )

channels those can be accommodated are ______

A. 300 

B. 2700   

C. 600  

D. 1380  

4. A 2 Mb PCM can carry _______number of speech channels.

(   )

A. 24 

B. 30   

C. 32    

D. 12   

Key:  1. C, 2. C,  3. B, 4. B

State True or False:

1. In FDM, all the channels, after modulation by the carrier frequency, 
(   )

are transmitted on a single transmission medium   

2. TDM techniques are used to transmit signals on an Analogue 

(   )

Transmission medium 

3. Sampling rate adopted in the TDM techniques is double the channel
(   )

 frequency    

4. It is not possible to work a 3 channel and a 12 channel systems 

(   )

simultaneously on the same physical pair.   

5. A narrow band M/W system can carry 2700 channels


(   )

6. The capacity of the 140 Mb Digital M/W system is 1920 chls.  

(   )

7. SDH stands for Subscriber Digital Handset  




(   )

8. Dense Wavelength Division Multiplexing (DWDM) is frequency 

(   )



multiplexing of several signals on Microwave Link  

9. OADM stands for Optical Add/Drop Multiplexer.  



(   )

Key:  1. T, 2. F,  3. T, 4. F, 5. F, 6. T, 7. F, 8. F, 9. T

Chapter 2. Transmission Units

MULTIPLE CHOICE:

1. Doubling the power, when a signal passes through a network, means;

A. 2 db loss 

B. 2 db gain

C. 3 db loss 

D. 3 db gain 

Key:  1. D

State True or False:

1. Higher voice frequencies attenuate at a lower rate than the lower voice 
(   )

frequencies. 

2. dB = 10 log P2/P1 , where P1 and P2 are the actual powers 


(   )

measured at two points of a network     

3. Halving the power means, decrease in level by 3 dB.


(   )

4. By definition, dBm is the power level related to 1mw.


(   )

5. Attenuation in Nepers is equal to 8.686 times the attenuation

(   )

 in dBs.

6. Bit Error Rate can be measured without taking the Digital 


(   )

Equipment off-line.

7. For good quality communication, the requirement is, not more 

(   )

than one error bit in one million bits.

8. Digital Transmission Analyzer can not be used for the measurement 
(   )

of both  BER and Jitter.

Key:  1. F, 2. T,  3. T, 4. T, 5. F, 6. F, 7. T, 8. F

Chap 6 . Impedance Matching

MULTIPLE CHOICE:

1. A correction of 6 dB should be given to the readings of the meter of 
(   )

600 ohms impedance when making measurements on a circuit of impedance 

A. 75 ohms.

B. 150 ohms.  

C. 600 ohms  

D. None 

2. The correction to be given when a 600 ohms impedance meter is 

(   )

used to measure  level across a point of impedance 75 ohms is 

A. 3 dB. 

B. 6 dB.  

C. 9 dB.  

D. 12 dB. 

Key:  1. B, 2. C

SHORT ANSWERS


1. What is Reflection Loss ?

Difference between the transmitted powers in matched and non-matched condition of any network is expressed as a “ Reflection loss “.

Data Communication

Fill in the blanks/ short answer questions/True/False type:

1. The    …………………. Layer changes bits into electromagnetic signals. 

2. Expand ISO:-

3. Expand ANSI:-

4. The set of rules that govern communication exchange are called ……………

5. Expand ITU: ………………………………..

6. Decryption & Encryption of DATA are responsibility of ………………layer

7. What is DATA?

8. Watching of T.V.  is communication .  Yes/No

9. Expand CRC: ……………………….

10. Retransmission of damaged frames or lost frames in DLC layer is known as ……………………

11. Write functions of Data link control layer.

12. Write two functions of MODEM

13. What do you understand by packetization

14. Expand SVC: 

15. OSI Model has …………………… ordered layers.

16. Who is smartest (1) HUB (2) Switch (3) Router

17. Which layer arranges packets sequentially:

18. Name various physical topologies used in Network

19. Name the interface used between DTE & DCE

20. Expand MNP in modem

21. Name three types of modems

22. DATA Networks cannot tolerate delay. Yes/No

23. Synchronous transmission is continuous.   True/ False.

24. Higher level three layers participate during building up of set up of call. True/ False

25. Identification of communicating entities is called ………………………….

26. Short Note (any four)

1. Null Modem  2. Routers   3. X.25  4. PAD.  5 HUB.  6. I-NET

27. How many layers are there in OSI model & what are there?

28. Compare SWITCH & HUB

29. (a). Name different protocols used in internet

(b). Write names of five facilities given to subscribers of Internet

30. State TRUE/FALSE or Yes/No

1. Switch is better than hub? Yes/No 

2. Routers always broadcasting? Yes/No


3. Routers always broadcasting? Yes/No

4. Maximum distance in Ethernet LAN established is ……..kms.

      5. EIA 232 describes the physical level interface between the DCEs

            6. X.25 is a packet switching protocol

7. Active Hub having active devices

        31. Write names of three LAN topologies

        32. How many bits are there for source IP address and destination IP address?

        33. Which media access technology is used by Ethernet card/NIC?

        34. Define PAD X.25 protocol ?

 35. Name five physical layer devices used in DATA communication

 36. Name different protocol used in internet (any four)

         37. Routers works in ………………………Layers.

 38. Maximum distance in Ethernet LAAN established is…………………...kms

39. What are the types of hub?

  40. How many bits are there for source IP address and destination IP address?

GSM & CDMA


1. The co-channel interference in cellular systems is a function of

a) Distance between co-channel cells.

b) Radius of cell

c) The ratio of distance between co-channel cells to radius of cell.

d) Square of distance between co-channel cells.

 2. Larger cells are more useful in

a) Densely populated urban areas.

b) Rural areas

c) Lightly populated urban areas

d) Mountainous areas.

3. In a PLMN the cell shape is always hexagonal.              True/ false

4. In equation D/R= √3K which one of the following is not valid value of, K the reuse factor ( where D = distance between two co-channel cells and  R= radius of a co-channel cell)

                a)7       b) 5      c) 12      d) 19

5. The first cellular systems were

a) analog

b) digital

6.  In case of propagation near ground level in an urban environment, the received power varies typically with d-4 .  (Where d is distance of receiving point from transmitting station.)

       True/ false

7.  Access method in GSM is based upon-

a) TDMA

b) FDMA

c) Both TDMA and FDMA

d) None of these.

8.  In GSM use of which of the following technique does not result in reduction of interference level in a cell.

a) Sectorization of a cell.

b) Frequency Re-use.

c) Transmitted power control.

d)  Discontinuous transmission.

9.  In up-link direction ARFCN (Absolute Radio Frequency Carrier Number) of 100 corresponds to frequency of (where 1 ≤  ARFCN ≤ 124) 

         a) 909.8 MHz        (b) 910MHz     (c) 910.2 MHz   (d) 910.4MHz 

  10.  Cells in one Location Area can be served by different VLR’s. 

               True/ False

11.  Authentication triplet used for authentication of subscriber and ciphering of data over radio interface consists of

1. RAND, Ki, SRES

2. RAND, Kc, SRES

3. A5, RAND, Ki 

4. A3, RAND, Kc

12.  Authentication triplet required for authentication procedure are stored at-

a) HLR 

 b) EIR         c) AuC           d) VLR

13.  Ciphering key Kc is never transmitted over radio interface.          True/ false

14.  Subscriber Identification key Ki is stored at

         a) VLR           b) SIM card   c) MSC       d) HLR and SIM card

15. For intra-BSC normal Handover (not forced Handover) unit responsible for taking a decision that Handover is required

         a) BSC         b) MSC        c) VLR      d) HLR 

16. Unit responsible for implementing power management of BTS’s   by broadcasting minimum power level is

         a) BTS          b) BSC         c) MSC     d) HLR

17.  MSRN, a temporary number used to route the call has significance in case of

1.Mobile Originated Call (Mobile to PSTN)

2.Mobile Terminated Call (PSTN to Mobile)

3.Mobile to Mobile Call 

b) 1 only

c) 2 only

d) 1 and 2 

e) 2 and 3.

18.  Which of the following statements about BCCH is not true-

a) It is a beacon on signal.

b) It is a point to multi-point channel and is defined in downlink direction  (BTS to MS) only.

c) BCCH carrier is power controlled to reduce interface level in a cell.

d) It contains information about system configuration parameters (e.g. LAI, cell id, neighbouring cells etc) for MS.

19.  When MS is in dedicated mode, the information for non urgent procedure like radio link supervision measurement, transmit power control and timing advance data, is carried on-

a) SDCCH        b) FACCH      c)  SACCH    d)  RACH

20.  FACCH is essentially a traffic channel with stealing flag set high to denote that   information carried is control data and not a traffic data.

      True/ false.

21.  The call set-up information (Dialled digits etc.) is transferred on air-interface on.

      a) SACCH       b) FACH        c) SDCCH     d) RACH

22.  SDCCH is half-duplex channel used for signalling in higher layers.    True/ false.

23.  BCCH is always transmitted on time slot 0 of the carrier.        True/ false.  

24.  In case inter-MSC Handover, MSC to MSC communication makes use of-

a) MAP- D interface.

b) MAP- C interface

c) MAP- E interface.

d) A-bis interface.

25.  The maximum data rate supported by GSM system is

      a) 4800bps     b0     5600bps    c) 9600bps    d) 19200bps.

26.  In GSM the signalling protocol supported BTS and BSC is

      a) LAPD    b)  LAPDm       c) SS7       d) CAS.

      27. Mark the various interfaces in GSM network in the figure on next page

28. Write down the names of three technology options for WILL.

29. Name three multiple access techniques for radio systems.

30. Write two major advantages of CDMA system.

31. Match the following.

	Walsh Codes
	2nd  Generation Mobile tecnology

	GSM
	7 / 21

	DAMPS
	1 / 3

	CDMA
	64

	Mobility Management
	HLR

	GSM RF Carrier
	1.25 Mhz

	CDMA RF Carrier
	200 Khz


32. Write True (T) or False (F)

          
 (a)    Sectorization helps to reduce interference.



(b)    One DIU can typically handles 1000 subscriber.



(c)    A-bis GSM  Standard Interface .



(d)    DECT is macro cellular architecture.

33. Write down two major advantages of WILL over PSTN.

34.  Name Two Forward link Channels in CDMA Systems.

35. Name two types of handoff in CDMA System

Objective type questions on Transmission theory.

Fill in the blanks with appropriate words.

1. Inadequate reproduction of the original signal at the receiving end is called __________.

2. A signal is said to have suffered from _______________ when it is not the exact replica of the transmitted signal in respect of amplitude wave shape after passing through a network (passive or active).

3. A network that doesn’t require any power supply is called _____________ network.

4. A network that requires power supply is called _______________ network.

5. The examples for passive network are ______________, ________________.

6. The examples for active network are _____________, _____________.

7. Signal distortion can be broadly divided into _________ distortion and ______ distortion.

8. Linear distortion is due to ______________ networks.

9. Non-linear distortion is due to _________________ networks.

10. The two types of linear distortion are __________distortion and  ___________ distortion.

11. The three types of non-linear distortion are ___________ distortion, ______________ distortion and  __________ distortion.

12. On a transmission line, higher frequencies attenuate ________than the lower frequencies. 

13. Phase distortion takes place when the time of propagation through transmission system varies with ________________.

14. ______________ distortion of  a transmission system is the variation of the gain or loss with frequency.

15. ___________________ is called the “distortion less” condition.

16. The best possible way to get the distortion less condition for a line is to increase the _________________ of the line.

17. ____________  is the process to increase the inductance of the line artificially to reduce the attenuation and distortion.

18. The two types of loading are ___________ loading and _____________ loading.

Answers:

1. distortion

2. distortion

3. passive 

4. active

5. attenuators, filters

6. amplifiers, oscillators

7. linear, non-linear

8. passive

9. active

10. attenuation, phase

11. amplitude, harmonic, inter-modulation

12. more

13. frequency

14. amplitude

15. LG = CR

16. inductance

17. loading

18. continuous, lumped

Objective type questions on Transmission theory.

1. The two basic forms of information that can be transmitted on a telecom network are ________________ and _______________.

2. The smallest subdivision of transmission path for a single type of transmission service (voice/data) is termed as _______________.

3. ________________ is a transmission path in which one or more channels of information are processed, converted to a suitable format and transposed to the distortion.

4. Transmitting number of circuits on a single transmission pair simultaneously is called _______________________.

5. The two basic types of multiplexing are ______________ and ___________.

6. the audio frequency band is _____________________.

7. _____________ is the fundamental unit to express frequency in transmission systems.

8. The frequency translation of an appropriate carrier frequency by audio frequency is done by ______________________________.

9. Allotting different frequency bands to different speech circuits  for simultaneous transmission on the same physical pair is called _____________________.

10. Single side band suppressed carrier (SS BSC) mode of AM saves ____________.

11. Single sideband suppressed carrier (SS BSC) permits the use of _____________.

12. _____________ transmission system is used for transmitting continuously varying signal.

13. The major limitations of FDM analog system are __________, ___________, ________.

14. Sharing of transmission medium by number of circuits in a time domain is called _________________.

15. The frequency bandwidth available in TDM technique in each time slot is ___________.

16. In TDM technique, all the channels are ____________ one by one.

17. The total number of circuits that can be transmitted on a physical pair working with pair working with C (3 channel) system is ____________.

18. The total number of circuits that can be transmitted on a physical pair working with pair working with H (8 channel) system is ____________.

19. The total number of circuits that can be transmitted on a physical pair working with pair working with J (12 channel) system is ____________.

20. Maximum carrier frequency that can be transmitted by a well-constructed open wire line is ____________________.

21. _______ technique is used to transmit signals on digital transmission / switching system.

22. Circuits derived from carrier systems are called ______________.

23. Circuit derived from physical pair is called ______________.

24. 1.3 MHz small tube co-axial system can give _________ number of channels.

25. ___________ number of channels can be derived form 12 MHz co-axial system.

26. In co-axial systems, a super group consists of ________ number of channels.

27. The life of co-axial cable is ___________ years.

28. A 2 MB stream can give _________ number of speech channels.

29. The disadvantages of digital system are ___________, ___________, _______________.

30. The two types of co-axial cables are ____________, _________________.

31. The co-axial systems that can be installed on small tube co-axial cable are ___________, ____________, ____________.

32. The co-axial systems that can be installed on large tube co-axial cable are ___________, ____________, ____________.

33. To provide large number of economical and superior quality of speech circuits between two stations located in difficult terrains, __________________ systems are used.

34. Microwave systems are broadly classified as ___________ and _____________.

35. The operating frequency slots of narrow band microwave systems are _________ or ___________.

36. The operating frequency slots of wideband microwave systems are _________ or ___________.

37. The number of speech circuits that can be derived from a narrow band microwave system is __________.

38. The number of speech circuits that can be derived from a wideband microwave system is __________.

39. A single orbiting satellite operates on a number of frequency bands is called ______________.

40. PCM (pulse code modulation) systems use _____________ technique to provide a number of circuits on the same transmission system.

41. To obtain PCM signal from several analog signals, several processes like ______, ____________, ___________, ____________ and ______________ are required.

42. The 30 channel PCM system with clock rate 2048 kbps is called _____________. 

43. The higher (2nd, 3rd, 4th) order MUX (multiplexing) systems recommended by CCITT are ___, _________, _______________.

44. CCITT stands for _______________________________________________.

45. The life of anolog co-axial systems is __________ years.

46. The number of speech channels that can be derived from Fourth Order MUX is _________.

47. The number of speech channels that can be derived from ___________Order MUX is 120.

48. The maximum number of speech channels, by replacing anolog microwave to digital microwave systems is ____________.

49. OFC stands for _____________.

50. The principle that is used in optical fibre cable is ____________________.

51. ____________ waves are transmitted from one place to another place through optical fibre cable.

52. The two general categories of optical fibres are ___________ and __________.

53. PDH stands for ___________________________.

54. SDH stands for ___________________________.

55. DWDM stands for ____________________________.

Answers:

1. analog, digital

2. circuit or channel

3. carrier

4. multiplexing

5. FDM, TDM

6. 300 Hz to 3400 Hz

7. Hertz

8. AM (amplitude modulation)

9. FDM (Frequency Division Multiplexing)

10. bandwidth

11. low power amplifiers

12. analog

13. interference, noise, distortion

14. TDM (Time Division Multiplexing)

15. 300 Hz to 3400 Hz

16. sampled

17. 4 (3 channel +1 audio)

18. 11 (8+3 channels +1 audio)

19. 16 (12+3 channels +1 audio)

20. 150 KHz

21. TDM (Time Division Multiplexing)

22. channels

23. audio

24. 300

25. 2700

26. 60

27. 40

28. 30

29. increased bandwidth, need for synchronization, distance restrictions.

30. small tube, large tube 

31. 1.3 MHz, 2.6 MHz, 12 MHz

32. 4 MHz, 6 MHz, 12 MHz, 60 MHz.

33. microwave

34. narrow band, wideband

35. 7 GHz, 11 GHz

36. 4 GHz, 6 GHz

37. 300

38. 1800

39. transponder

40. TDM (Time Division Multiplexing)

41. filtering, sampling, quantising, encoding, line coding

42. primary multiplex system

43. 8 mbps, 32 mbps, 140 mbps

44. Co-ordination Committee for International Telephones and Telegraphs

45. 20 

46. 1920

47. second

48. 7680

49. optical fibre cable

50. total internal reflection

51. light

52. single mode, multimode 

53. Plesio-chronous Digital Hierarchy

54. Synchronous Digital Hierarchy

55. Dense Wavelength Division Multiplexing

Objective type questions on Transmission theory.

1. The primary constants of a transmission line are independent of _____________.

2. The primary constants of a transmission line are _____________, ___________, ____________, ___________________.

3. The resistance of a transmission line depends on ___________ and  ___________ of the conductor. 

4. The leakance of a transmission line depends on ___________ and  ___________. 

5. The inductance of a transmission line depends on ___________ and  ___________ between the conductors. 

6. The capacitance of a transmission line depends on ___________of the dielectric of the conductor.

7. The unit of resistance is _____________ and symbolically expresses as _______.

8. The unit of leakance is _____________ and symbolically expresses as ________.

9. The unit of inductance is _____________ and symbolically expresses as _______.

10. The unit of capacitance is _____________ and symbolically expresses as ______.

11. The secondary constants of a transmission line are dependent of _____________.

12. The secondary constants of a transmission line are ____________, ___________. 

13. When an infinite number of symmetrical, identical networks are connected in tandem, the impedance measured at the input of the first network will have some definite value depending on the composition of the networks and is called ________________________.

14. ____________________ of a transmission line is the natural logarithm of the ratio of the current entering into the network to the current leaving it, when the line is correctly terminated with its characteristic impedance and the signal is applied at the sending end.

15. Propagation constant has two parts,  __________ part and ___________ part.

16. The real part of propagation constant is called ________________ constant.

17. The imaginary part of propagation constant is called ___________ constnat.

Answers:

1. frequency

2. resistance, leakance (reactance), capacitance, inductance

3. gauge, material 

4. material, media

5. material dimension of the dielectric

6. size, separation

7. ohm, 

8. mho, 

9. henry, H

10. farad, F

11. frequency

12. characteristic impedance, propagation constant

13. characteristic impedance

14. propagation constant

15. real, imaginary

16. attenuation

17.  phase


Objective type questions on Transmission theory.

18. With anolog transmission systems using copper cable, the three major categories of impairments are ____________ ,______________, _________________.

19. The ratio of the average signal power (strength) to the average noise power (strength) is called _____________________.

20. Any random disturbance or unwanted signal on a transmission facility that obscures the original singal is called ____________.

21. Attenuation produced by a standard reference cable known as _____________________________.

22. “Mile of standard cable” consists of _________ ohms series impedance and _________ F as shunt impedance. 

23. _____________ is the power unit in connection with the transmission of signals over telephone lines.

24. one tenth of the Bel is called ______________.

25. A network is said to be one _________, if the common logarithm of the ratios of the magnitude of the power entering into the network to that of leaving it.

26. A network is said to be one _________, if the natural logarithm of the ratios of the magnitude of the current entering into the network to that of leaving it.

27. DeciBel is a unit of __________ ratio.

28. Neper is a unit of _________ ratio.

29. When the input and output impedances of a network are equal, then the attenuation in dB = ___________ x attenuation in Nepers.

30. When the input and output impedances of a network are equal, then the attenuation in N = ___________ x attenuation in deciBels.

31. When the input power is greater than the output power of a network, then the network has _________.

32. When the output power is greater than the input power of a network, then the network has _________.

33. The input power of a network 1W and that of output is 2W, then the gain in dB is ________________.

34. The two quality factors that are used for judging the quality of digital transmission are ______________, ________________.

35. The ____________ is the measure with respect to the total number of bits transmitted in a given time.

36. The time set for measurement of BER is called ____________.

37. For good quality communication, the requirement is, not more than one error bit in one ___________ bits.

38. The measuring instrument used for BER and Jitter is ___________________.

Answers:

18. attenuation, noise, distortion

19. signal to noise ratio

20. noise

21. mile of standard cable

22. 88, 0.54

23. Bel

24. decibel

25. decibel

26. Neper

27. power

28. current

29. 8.686

30. 0.1151

31. loss

32. gain

33. 3 dB

34. BER (Bit Error Ratio), Jitter

35. BER (Bit Error Ratio)

36. gating time

37. million

38. DTA (Digital Transmission Analyser)


Objective type questions on Transmission theory.

1. Any disturbing signal produced by transfer of unwanted power from one transmission path to another transmission path is called ________________.

2. Cross talk is mainly due to ______________________ couplings, poor control of _____________ response.

3. _________________ occurs if the cross talk power in the disturbed circuit propagates in the direction opposite to the propagation of useful power in disturbing circuit.

4. _________________ occurs if the cross talk power in the disturbed circuit propagates in the direction of the useful power in disturbing circuit.

5. In near end cross talk the magnetic and electrostatic inductions are ___________.

6. The near end cross talk is much _________ than the far end cross talk because the magnetic and electrostatic inductions are additive.

7. The inducing ___________ is much stronger in disturbing circuit in near end cross talk.

8. The far end cross talk is less effective in impairment of the original signal in the disturbed circuit because the magnetic and electrostatic inductions are _________.

9. _______________ cross talk occurs when the same frequency band is transmitted between two circuits. 

10. ___________ cross talk occurs in consequence of non-linear distortion.

11. Interaction cross talk is also called as __________________ cross talk.

12. Indirect cross talk caused by reflection due to mismatch of the circuit is called ________________ cross talk.

13. Cross talk is mainly caused by two types of induction viz., __________________, _____________________.

14. To reduce cross talk, electric and magnetic fields in both the fields must be _____.

15. In open wire lines, the method adopted to reduce cross talk is to ___________ the separation between lines and to ___________ the separation between pairs.

16. _____________ means interchanging the position of the two wires forming the pair at regular intervals on the pole route, right through the length of the pair. 

17. Transposition is the most effective and practical method to reduce _______________.

Answers:

1. Cross talk

2. capacitative or inductive, frequency 

3. Near End Cross Talk

4. Far End Cross Talk.

5. additive

6. stronger

7. current

8. subtractive

9. intelligible 

10. Unintelligible

11. double near-end 

12. reflected 

13. magnetic, electrostatic

14. equal

15. decrease, increase

16. transposition

17. cross talk
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